The Convergence Iterative Scheme for Quasivariational Problems and Fixed Point Problems

Yaowaluck Khongtham

Abstract—In this paper, we introduce an iterative scheme for finding a common element of the set solutions of quasivariational inclusion problems, fixed point problems, and generalized equilibrium problems in Hilbert spaces. Under suitable conditions, some strong convergence theorem for a sequence of nonexpansive mappings be proved. The results presented in this paper improve and extend the corresponding results announced by many others.

Index Terms—Fixed point, quasi-variational inclusion, generalized equilibrium problems, minimization problems

I. INTRODUCTION

THIS paper we always assume that H is a real Hilbert space with the inner product $\langle \cdot, \cdot \rangle$ and the norm $\|\cdot\|$. Let be a nonlinear mapping and let F be a bifunction of $C \times C$ into \mathbb{R} , where \mathbb{R} is the set of real numbers. The generalized equilibrium problem is to find a point $x \in C$ such that

$$F(x, y) + \langle B(x), y - x \rangle \ge 0, \forall y \in C.$$
(1.1)

The set of solutions of (1.1) is denoted by GEP (see in [3]). If B = 0, then (1.1) reduces to the equilibrium problem: to find $x \in C$ such that

$$F(x, y) \ge 0, \forall y \in C.$$
(1.2)

Let $A: H \to H$ be a single-valued nonlinear mapping and $M: H \to 2^{H}$ be a set-valued mapping. The quasi-variational inclusion problem (see in [9]), is to find $x \in H$ such that

$$f \in A(x) + M(x). \tag{1.3}$$

The set of solutions of (1.3) is denoted by VI(H, A, M). A special case of the problem (1.3) is to find an element $x \in H$ such that

$$\theta \in A(x) + M(x), \tag{1.4}$$

where θ is the zero vector in H. If $M = \partial_{\delta_C}$ and $\delta_C : H \rightarrow [0, +\infty)$ is the indicator function of C, that is

$$\delta_{\mathcal{C}}(\mathbf{x}) = \begin{cases} 0, & \mathbf{x} \in \mathcal{C} \\ -\infty, & \mathbf{x} \notin \mathcal{C}. \end{cases}$$
(1.5)

Then the quasi-variational inclusion problem (1.4) is equivalent the classical variational inequality problem, denoted by VI(C, A), to find $x \in H$ such that

Manuscript received March 23, 2013; revised April 19, 2013. This work was supported in part by Maejo University, Chiang Mai, 50290 Thailand, under Grant MJU. 2-55-044.

Y. Khongtham is with the Mathematics Department, Faculty of Science, Maejo University, Chiang Mai, 50290 Thailand (phone: 66-5387-3551; fax: 66-5387-8225; e-mail:yaowa.k@mju.ac.th).

$$\langle A(x), v-x \rangle \ge 0, \forall v \in C.$$
 (1.6)

It is known that (1.4) provides a convenient framework for the unified study of optimal solutions in many optimization related areas including optimal control, equilibria and variational inequalities (see [1] and the references therein).

Let $S: H \rightarrow H$ be a nonlinear mapping. The mapping S is said to be contractive with coefficient $k \in (0,1)$ if

$$Sx - Sy \le \alpha \|x - y\|, \forall x, y \in H.$$

$$(1.7)$$

The mapping S is said to be nonexpansive if

$$\mathbf{Sx} - \mathbf{Sy} \| \le \|\mathbf{x} - \mathbf{y}\|, \forall \mathbf{x}, \mathbf{y} \in \mathbf{H}.$$
 (1.8)

The fixed point set of S is denoted by F(S). For finding a common element of the set of fixed points of a nonexpansive mapping and of the set solutions to variational inequality (1.6), Iiduka and Takahashi [6], introduced the following iterative scheme. Starting with $x_1 = x \in C$ and define a sequence $\{x_n\}$ by

$$\mathbf{x}_{n+1} = \alpha_n \mathbf{x} + (1 - \alpha_n) \mathbf{SP}_{\mathbf{C}}(\mathbf{x}_n - \lambda_n \mathbf{A} \mathbf{x}_n), \qquad (1.9)$$

for all $n \in N$, where $\{\alpha_n\}$ be a sequence in [0,1) and $\{\lambda_n\}$ be a sequence in [a, b]. They proved that under certain appropriate conditions imposed on $\{\alpha_n\}$ and $\{\lambda_n\}$, the sequence $\{x_n\}$ converges strongly to $P_{F(S)\cap VI(C,A)}x$.

Recently, Zhang et al. [14] introduced an iterative method for nonexpansive mapping and equilibrium problem (1.2) in a Hilbert space H :

$$\mathbf{x}_{t} = \mathbf{SP}_{C}\left((1-t)\mathbf{J}_{\mathbf{M},\lambda}\left(\mathbf{I}-\lambda\mathbf{A}\right)\mathbf{T}_{\mu}\left(\mathbf{I}-\mu\mathbf{B}\right)\right)\mathbf{x}_{t}, t \in (0,1).$$
(1.10)

Under suitable conditions, they proved that the sequence $\{x_n\}$ generated by (1.10) converges strongly to the fixed point which is the unique solution of the quadratic minimization problem:

$$\left\|\mathbf{x}^*\right\|^2 = \min_{\mathbf{x}\in F(S)\cap VI(H,A,M)\cap GEP} \left\|\mathbf{x}\right\|^2.$$

Motivated and inspired by Iiduka and Takahashi [6], Zhang et al. [14], Zhang et al. [13], Khongtham and Plubtieng [8], Plubtieng and Punpaeng [10], Noor and Noor [9], and Tan [7], we introduce an iterative scheme for finding a common element quasi-variational inclusion problems, fixed point problems, and generalized equilibrium problems in Hilbert spaces. We will present in the section III.

II. PRELIMINARIES

Let C be a nonempty closed convex subset of H. It is well known that

$$\begin{split} \left\| \gamma x + (1-\gamma) y \right\|^2 &= \gamma \left\| x \right\|^2 + \left(1-\gamma\right) \left\| y \right\|^2 - \gamma \left(1-\gamma\right) \left\| x-y \right\|^2, \ (2.1) \\ \text{for all } x,y \in H \text{ and } \gamma \in \left[0,1\right]. \text{ For any } x \in H, \text{ there exists a} \\ \text{unique nearest point in } C, \text{ denote by } P_C x \text{ such that} \\ \left\| x-P_C x \right\| &\leq \left\| x-y \right\| \text{ for all } y \in C. \text{ Such a mapping } P_C \text{ is} \\ \text{called the metric projection from } H \text{ into } C. \text{ We know that} \\ P_C \text{ is nonexpansive mapping, } P_C x \in C \text{ and} \end{split}$$

$$\langle \mathbf{x} - \mathbf{P}_{\mathbf{C}} \mathbf{x}, \mathbf{P}_{\mathbf{C}} \mathbf{x} - \mathbf{y} \rangle \ge 0, \forall \mathbf{x} \in \mathbf{H}, \mathbf{y} \in \mathbf{C}.$$
 (2.2)

Recalled that a mapping $A: H \rightarrow H$ is called α -inverse strongly monotone (see [6],[4]), if there exists a positive α such that

$$\langle Ax - Ay, x - y \rangle \ge \alpha ||Ax - Ay||^2, \forall x, y \in H.$$
 (2.3)

It is well known that A is an $(1/\alpha)$ – Lipschitz continuous and monotone mapping. Moreover, $I - \lambda A$ is a nonexpansive mapping, if $0 < \lambda \le 2\alpha$ and I is the identity mapping on H (see [13]).

Recalled that a set-valued mapping $M: H \to 2^{H}$ is called monotone if for all $x, y \in H, f \in Mx$, and $g \in My$ imply $\langle x - y, f - g \rangle \ge 0$. A monotone mapping $M: H \to 2^{H}$ is maximal if and only if for $(x, f) \in H \times H, \langle x - y, f - g \rangle \ge 0$, for every $(y, g) \in G(M)$ implies $f \in Mx$. The single- valued mapping $J_{M,\lambda}: H \to H$ defined by

$$J_{M,\lambda}(x) = (I + \lambda M)^{-1}(x), \forall x \in H$$
(2.4)

is called the resolvent operator associated with M, where λ is any positive number and I is the identity mapping. We know that the resolvent operator $J_{M,\lambda}$ associated with M, is a nonexpansive for all $\lambda > 0$, that is,

$$\left\| J_{M,\lambda}(x) - J_{M,\lambda}(y) \right\| \le \left\| x - y \right\|, \forall x, y \in H, \forall \lambda > 0, \qquad (2.5)$$
(see [14]).

In addition, the resolvent operator $J_{M,\lambda}$ is 1-inverse strongly monotone, that is, for all $x, y \in H$,

$$\left\| J_{M,\lambda}(x) - J_{M,\lambda}(y) \right\|^2 \le \left\langle x - y, J_{M,\lambda}(x) - J_{M,\lambda}(y) \right\rangle, \quad (2.6)$$

(see [14]).

The following lemmas are useful in our proof.

Lemma 2.1 (see [11]). Let sequence $\{x_n\}$ and $\{y_n\}$ be bounded sequences in a Banach space X. Let $\{\beta_n\}$ be a sequence in [0, 1] with $0 < \liminf_{n\to\infty} \beta_n \le \limsup_{n\to\infty} \beta_n$ < 1. Suppose that $x_{n+1} = (1-\beta_n)y_n + \beta_n x_n, \forall n \ge 0$, and $\limsup_{n\to\infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \le 0$. Then, $\lim_{n\to\infty} \|y_n - x_n\| = 0$.

Lemma 2.2 (see [2]). Let C be a nonempty closed subset of a Banach space and let $\left\{S_n\right\}$ be a sequence of mappings of C into itself. Suppose that

$$\label{eq:superstandard} \sum_{n=1}^{\infty} sup \left\{ \left\| \mathbf{S}_{n+1} \mathbf{z} - \mathbf{S}_{n} \mathbf{z} \right\| : \mathbf{z} \in \mathbf{C} \right\} < \infty.$$

Then, for each $x \in C$, $\{S_n y\}$ converges strongly to some

ISBN: 978-988-19251-0-7 ISSN: 2078-0958 (Print); ISSN: 2078-0966 (Online) point of C. Let S be a mapping from C into itself defined by $Sy = \lim_{n \to \infty} S_n y, \forall y \in C.$

Then, $\lim_{n\to\infty} \sup\{||\mathbf{S}_n \mathbf{z} - \mathbf{S}\mathbf{z}|| : \mathbf{z} \in \mathbf{C}\} = 0.$

We assume that the bifunction $F: C \times C \rightarrow H$ satisfies the following conditions:

 $(A1) F(x,x) = 0 \text{ for all } x \in C,$

(A2) F is monotone, that is, $F(x, y) + F(y, x) \le 0, \forall x, y \in C$;

(A3) for each $x,y,z\in C,$ $\label{eq:action} \lim_{t\to 0} F(tz+(1-t)x,y) \leq F(x,y);$

(A4) for each $x \in C$, $y \mapsto F(x, y)$ is convex and lower semicontinuous.

Lemma 2.3 (see [5]). Let H be a real Hilbert space, C be a nonempty closed convex subset of H, and $F: C \times C \rightarrow H$ be a bifunction satisfying the conditions (A1) –(A4). Let $\tau > 0$ and $x \in H$. Then, there exists a point $z \in C$ such that

$$F(z, y) + (1/\tau) \langle y - z, z - x \rangle \ge 0, \forall y \in C.$$

Define a mapping $T_{\tau}: H \rightarrow C$ by

$$T_{\tau} = \left\{ z \in C : F(z, y) + (1/\tau) \left\langle y - z, z - x \right\rangle \ge 0, \forall y \in C \right\}, \quad (2.7)$$

for all $z \in H$. Then the following hold:

for all $z \in H$. Then the following hold: (i) T is single-valued and firmly noneypansive

(i) T_{τ} is single-valued and firmly nonexpansive, that is, for any $x,y\in H,$

$$\left\|T_{\tau}x - T_{\tau}y\right\|^{2} \leq \left\langle T_{\tau}x - T_{\tau}y, x - y\right\rangle; \tag{2.8}$$

(ii) EP(F) is closed and convex and EP(F) = $F(T_{\tau})$.

Lemma 2.4 (i) (see [13]) $u \in H$ is a solution of variational inclusion (1.4) if and only if

$$\mathbf{u} = \mathbf{J}_{\mathbf{M},\lambda}(\mathbf{u} - \lambda \mathbf{A}\mathbf{u}), \forall \lambda > 0.$$
(2.9)

that is,

$$VI(H, A, M) = F(J_{M,\lambda}(u - \lambda Au)), \forall \lambda > 0.$$
(2.10)

(ii) (see [14]) $u \in C$ is a solution of generalized equilibrium problem (1.6) if and only if

$$\mathbf{u} = \mathbf{T}_{\tau} (\mathbf{u} - \tau \mathbf{B} \mathbf{u}), \forall \tau > 0, \tag{2.11}$$

that is,

$$GEP = F(T_{\tau}(I - \tau B)), \forall \tau > 0.$$
(2.12)

(iii) (see [14]) Let $A: H \to H$ is an α -inverse strongly monotone mapping and $B: C \to H$ is a δ - inverse strongly monotone mapping. If $\lambda \in (0, 2\alpha]$ and $\tau \in (0, 2\delta]$, then VI(H, A, M) is a closed convex subset in H and GEP is a closed convex subset in C.

Lemma 2.5 (see [12]). Assume $\{a_n\}$ is a sequence of nonnegative real numbers such that

$$a_{n+1} \leq (1-\alpha_n)a_n + \delta_n, n \geq 0,$$

where $\{\alpha_n\}$ is a sequence in (0,1) and $\{\delta_n\}$ is a sequence in $\mathbb R$ such that:

(i)
$$\sum_{n=1}^{\infty} \alpha_n = \infty$$
;
(ii) $\limsup_{n \to \infty} (\delta_n / \alpha_n) \le 0 \text{ or } \sum_{n=1}^{\infty} |\delta_n| < \infty$.
Then $\lim_{n \to \infty} a_n = 0$.

III. MAIN RESULT

In this section, we prove the strong convergence theorem for solving a common element of the set solutions of quasivariational inclusion problems, fixed point problems, and generalized equilibrium problems in a real Hilbert spaces.

Theorem 3.1 Let H be a real Hilbert space, let F be a bifunction from C×C into H satisfying the conditions (A1)-(A4) and let $\{S_n\}$ is a sequence of nonexpansive mappings on C. Let A: H \rightarrow H is an α - inverse strongly monotone mapping and B: C \rightarrow H is a δ - inverse strongly monotone mapping. Let M: H $\rightarrow 2^{H}$ is maximal monotone mapping such that

 $\Omega := \bigcap_{n=1}^{\infty} F(S_n) \cap VI(H, A, M) \cap GEP \neq \emptyset.$

Let f be a contraction of H into itself with a constant $k \in (0,1).$ Let $x_1 \in H$ and

$$\begin{split} u_{n} &= T_{\tau} \left(I - \tau B \right) x_{n}, \\ y_{n} &= J_{M,\lambda} \left(I - \lambda A \right) u_{n}, \forall n \geq 0, \\ x_{n+1} &= \alpha_{n} f(x_{n}) + \beta_{n} x_{n} + \gamma_{n} S_{n} P_{C} \left(\left(1 - t_{n} \right) y_{n} \right), \end{split}$$
(3.1)

for all $n \in N$, the mapping $T_{\tau} : H \to C$ is defined as (2.7) in Lemma 2.3, $\lambda \in (0, 2\alpha]$, $\tau \in (0, 2\delta]$, and $\{t_n\}$, $\{\alpha_n\}$, $\{\beta_n\}$,

- and $\left\{ \gamma_{n}\right\}$ are four sequences $% \left\{ \left(\gamma_{n}\right) \right\} =\left\{ \gamma_{n}\right\} =\left\{ \gamma_{n}$
- (i) $\alpha_n + \beta_n + \gamma_n = 1;$
- (ii) $\lim_{n\to\infty} \alpha_n = 0, \sum_{n=1}^{\infty} \alpha_n = \infty;$
- (iii) $0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1;$
- (iv) $\lim_{n\to\infty} t_n = 0, \sum_{n=1}^{\infty} t_n = \infty$.

Suppose that $\sum_{n=1}^{\infty} \sup \{ \|S_{n+1}z - S_n z\| : z \in C \} < \infty$ for any bounded subset C of H. Let S is a mapping from C into itself defined by $Sx = \lim_{n \to \infty} S_n x$, $\forall x \in C$ and suppose that $F(S) = \bigcap_{n=1}^{\infty} F(S_n)$. Then, $\{x_n\}, \{y_n\}$, and $\{u_n\}$ converge strongly to $q \in \Omega$, which is the unique solution of the quadratic minimization problem:

$$\|\mathbf{q}\|^2 = \min_{\mathbf{x}\in\Omega} \|\mathbf{x}\|^2.$$
 (3.2)

Proof. Put $Q = P_{F(S) \cap VI(H,A,M) \cap GEP}$. It easy to see that Qf is a contraction. By Banach contraction principle, there exists $z_0 \in F(S) \cap VI(H,A,M) \cap GEP$ such that

$$z_0 = Qf(z_0) = P_{F(S) \cap VI(H,A,M) \cap GEP}f(z_0)$$

Otherwise, we see that $I-\lambda A$, $I-\tau B$, T_{τ} , and $J_{M,\lambda}$ are nonexpansive. First, we will show that $\{x_n\}$ is bounded. Put $p \in \Omega$. We observed that

$$\begin{split} \left\| u_{n} - p \right\|^{2} &= \left\| T_{\tau} (I - \tau B) x_{n} - T_{\tau} (I - \tau B) p \right\|^{2} \\ &\leq \left\| x_{n} - p \right\|^{2} + \tau (\tau - 2\beta) \left\| B x_{n} - B p \right\|^{2} \end{split}$$
(3.3)

and

$$\begin{aligned} \left\| \mathbf{y}_{n} - \mathbf{p} \right\|^{2} &= \left\| \mathbf{J}_{\mathbf{M},\lambda} (\mathbf{I} - \lambda \mathbf{A}) \mathbf{u}_{n} - \mathbf{J}_{\mathbf{M},\lambda} (\mathbf{I} - \lambda \mathbf{A}) \mathbf{p} \right\|^{2} \\ &\leq \left\| \mathbf{x}_{n} - \mathbf{p} \right\|^{2} + \lambda (\lambda - 2\alpha) \left\| \mathbf{A} \mathbf{u}_{n} - \mathbf{A} \mathbf{p} \right\|^{2} \\ &+ \tau (\tau - 2\beta) \left\| \mathbf{B} \mathbf{x}_{n} - \mathbf{B} \mathbf{p} \right\|^{2}. \end{aligned}$$
(3.4)

Using (3.3) and (3.4), we have that $||y_n - p|| \le ||u_n - p|| \le ||x_n - p||.$ (3.5)From (3.1) and (3.5), we calculated that $\|x_{n+1} - p\| = \|\alpha_n f(x_n) + \beta_n x_n + \gamma_n S_n P_C((1 - t_n) y_n) - p\|$ $\leq \alpha_{n} \| f(x_{n}) - p \| + \beta_{n} \| x_{n} - p \| + \gamma_{n} \left((1 - t_{n}) \| x_{n} - p \| + t_{n} \| p \| \right)$ $\leq \alpha_n \|f(p) - p\| + (1 - \alpha_n (1 - k)) \|x_n - p\| + \gamma_n t_n \|p\|.$ (3.6)Using (3.6) and by inductions, we get that $\|\mathbf{x}_{n} - \mathbf{p}\| \le \max\{\|\mathbf{x}_{1} - \mathbf{p}\|, (1/(1-k))\|\|\mathbf{f}(\mathbf{p}) - \mathbf{p}\|, \|\mathbf{p}\|\}, \forall n \ge 1.$ This implies that $\{x_n\}$ is bounded, so are $\{y_n\}, \{u_n\}, \{u_n$ $\{Au_n\}, \{Bx_n\}, \{f(x_n)\}, and \{S_nP_C((1-t_n)y_n)\}$. Put $v_n = P_C((1-t_n)y_n)$ and $z_n = S_nv_n$. Next, we show that $\|\mathbf{x}_{n+1} - \mathbf{x}_n\| \to 0$, as $n \to \infty$. Let $\mathbf{x}_{n+1} = (1 - \beta_n) \mathbf{e}_n + \beta_n \mathbf{x}_n$. We note that $e_n = [(x_{n+1} - \beta_n x_n)/(1 - \beta_n)]$. Then, we have that $\mathbf{e} \| - \| \mathbf{x} \| - \mathbf{x} \| \leq \frac{\alpha_{n+1}}{n} \| \mathbf{f} (\mathbf{x}_{n+1}) \| + \frac{\alpha_n}{n} \| \mathbf{f} (\mathbf{x}_n) \|$ lle.

$$\begin{aligned} \|\mathbf{e}_{n+1} - \mathbf{e}_{n}\| &= \|\mathbf{x}_{n+1} - \mathbf{x}_{n}\| \leq \frac{1}{1 - \beta_{n+1}} \|\mathbf{1} (\mathbf{x}_{n+1})\| + \frac{1}{1 - \beta_{n}} \|\mathbf{1} (\mathbf{x}_{n})\| \\ &+ \frac{\gamma_{n+1}}{1 - \beta_{n+1}} \Big[(1 - t_{n+1}) \|\mathbf{x}_{n+1} - \mathbf{x}_{n}\| + \|\mathbf{t}_{n+1} - t_{n}\| \|\mathbf{e}_{n}\| \Big] \\ &+ \frac{\gamma_{n}}{1 - \beta_{n}} \Big[\sup \Big\{ \|\mathbf{S}_{n+1} \mathbf{z} - \mathbf{S}_{n} \mathbf{z}\| : \mathbf{z} \in \mathbf{C} \Big\} \Big] - \|\mathbf{x}_{n+1} - \mathbf{x}_{n}\|. \end{aligned}$$
(3.7)

From (3.7) and the conditions (i)-(iv), we have that $\limsup_{n\to\infty} \left(\left\| e_{n+1} - e_n \right\| - \left\| x_{n+1} - x_n \right\| \right) \le 0.$ By Lemma 2.1 and Lemma 2.2, we have $\lim_{n\to\infty} \left\| e_n - x_n \right\| = 0.$ Consequently,

$$\begin{split} &\lim_{n\to\infty} \left\| x_{n+1} - x_n \right\| = \lim_{n\to\infty} \left(1 - \beta_n \right) \left\| e_n - x_n \right\| = 0\\ &\text{and so are } \lim_{n\to\infty} \left\| v_{n+1} - v_n \right\| = 0, \ \lim_{n\to\infty} \left\| u_{n+1} - u_n \right\| = 0,\\ &\text{and } \lim_{n\to\infty} \left\| y_{n+1} - y_n \right\| = 0. \ \text{Since} \end{split}$$

 $\begin{aligned} \mathbf{x}_{n+1} - \mathbf{x}_n &= \alpha_n f\left(\mathbf{x}_n\right) + \beta_n \mathbf{x}_n + \gamma_n \mathbf{S}_n \mathbf{v}_n - \mathbf{x}_n, \quad (3.8) \\ \text{it follows by (ii) and } \lim_{n \to \infty} \left\|\mathbf{x}_{n+1} - \mathbf{x}_n\right\| = 0, \quad \text{that} \\ \lim_{n \to \infty} \left\|\mathbf{S}\mathbf{v}_n - \mathbf{x}_n\right\| &= 0. \quad \text{And we also get that} \\ \lim_{n \to \infty} \left\|\mathbf{x}_n - \mathbf{u}_n\right\| &= 0, \quad \lim_{n \to \infty} \left\|\mathbf{u}_n - \mathbf{y}_n\right\| = 0, \text{ and} \\ \lim_{n \to \infty} \left\|\mathbf{x}_n - \mathbf{y}_n\right\| &= 0. \quad \text{Moreover, we have that} \end{aligned}$

$$\begin{split} \lim_{n\to\infty} \|x_n - y_n\| &= 0, & \text{indecover, we have that} \\ \lim_{n\to\infty} \|x_{n+1} - Sx_{n+1}\| &= 0. \text{ By the same argument as in the} \\ \text{proof Theorem 3.1(pp. 13-14) of [7], we conclude that} \\ \lim_{n\to\infty} \|x_n - q\| &= 0, \text{ where } q \in \Omega. \\ \text{Finally, we show that} \\ \lim_{n\to\infty} \|x_n - q\| &= 0, \text{ where } q \text{ is the unique solution of the} \\ \text{quadratic minimization problem (3.2). For any } r \in \Omega \text{ and} \\ \lim_{n\to\infty} \|Sv_n - x_n\| &= 0, \text{ we get that} \end{split}$$

$$\begin{split} \limsup_{n \to \infty} \langle f(r) - r, x_n - r \rangle &= \limsup_{n \to \infty} \langle f(r) - r, Sv_n - r \rangle \\ &= \lim_{i \to \infty} \langle f(r) - r, Sv_{n_i} - r \rangle \\ &= \langle f(r) - r, q - r \rangle \leq 0. \end{split}$$
(3.9)

And

$$\begin{split} \left\| \boldsymbol{z}_{n} - \boldsymbol{r} \right\|^{2} &= \left\| \boldsymbol{S}_{n} \boldsymbol{v}_{n} - \boldsymbol{r} \right\|^{2} \\ &= \left\| \boldsymbol{S}_{n} \boldsymbol{P}_{C} \left(\left(1 - \boldsymbol{t}_{n} \right) \boldsymbol{y}_{n} \right) - \boldsymbol{S}_{n} \boldsymbol{P}_{C} \boldsymbol{r} \right\|^{2} \end{split}$$

ISBN: 978-988-19251-0-7 ISSN: 2078-0958 (Print); ISSN: 2078-0966 (Online)

$$\begin{split} &\leq \left\| \mathbf{y}_{n} - \mathbf{r} \right\|^{2} - 2t_{n} \left\langle \mathbf{y}_{n}, \mathbf{y}_{n} - \mathbf{r} \right\rangle + t_{n}^{2} \left\| \mathbf{y}_{n} \right\|^{2} \\ &\leq \left(1 - 2t_{n}\right) \left\| \mathbf{x}_{n} - \mathbf{r} \right\|^{2} + 2t_{n} \left\langle \mathbf{r}, \mathbf{r} - \mathbf{y}_{n} \right\rangle + t_{n}^{2} \left\| \mathbf{y}_{n} \right\|^{2}. \end{split}$$

This implies that

$$\begin{split} \left| \mathbf{x}_{n+1} - \mathbf{r} \right\|^{2} &= \left\| \alpha_{n} f\left(\mathbf{x}_{n} \right) + \beta_{n} \mathbf{x}_{n} + \gamma_{n} S_{n} \mathbf{v}_{n} - \mathbf{r} \right\|^{2} \\ &\leq \left\| \beta_{n} (\mathbf{x}_{n} - \mathbf{r}) + \gamma_{n} \left(S_{n} \mathbf{v}_{n} - \mathbf{r} \right) \right\|^{2} \\ &+ 2\alpha_{n} \mathbf{k} \left\| \mathbf{x}_{n} - \mathbf{r} \right\| \left\| \mathbf{x}_{n+1} - \mathbf{r} \right\| \left\| \mathbf{x}_{n+1} - \mathbf{r} \right\| \\ &+ 2\alpha_{n} \left\langle f\left(\mathbf{r} \right) - \mathbf{r}, \mathbf{x}_{n+1} - \mathbf{r} \right\rangle \\ &\leq \beta_{n} \left\| \mathbf{x}_{n} - \mathbf{r} \right\|^{2} + \gamma_{n} \left(\left(1 - 2t_{n} \right) \left\| \mathbf{x}_{n} - \mathbf{r} \right\|^{2} \\ &+ 2t_{n} \left\langle \mathbf{r}, \mathbf{r} - \mathbf{y}_{n} \right\rangle + t_{n}^{2} \left\| \mathbf{y}_{n} \right\|^{2} \right) \\ &+ 2\alpha_{n} \mathbf{k} \left\| \mathbf{x}_{n} - \mathbf{r} \right\| \left\| \mathbf{x}_{n+1} - \mathbf{r} \right\| \\ &+ 2\alpha_{n} \left\langle f\left(\mathbf{r} \right) - \mathbf{r}, \mathbf{x}_{n+1} - \mathbf{r} \right\rangle. \end{split}$$
(3.10)

Put r = q in (3.10). Then using (3.9), (3.10), and Lemma 2.5 we have that $\lim_{n\to\infty} ||x_n - q|| = 0$, where q is the unique solution of the quadratic minimization problem: $||q||^2 = \min_{x \in \Omega} ||x||^2$. This complete the proof.

In Theorem 3.1, if $S = S_n$, $\forall n \ge 1$, then, we have the following corollary.

Corollary 3.2 Let H be a real Hilbert space, let F be a bifunction from $C \times C$ into H satisfying the conditions (A1)-(A4) and let S be a nonexpansive mapping on H. Let $A: H \to H$ be an α - inverse strongly monotone mapping and $B: C \to H$ be a δ - inverse strongly monotone mapping. Let $M: H \to 2^H$ be a maximal monotone mapping such that $\Omega_1 := F(S) \cap VI(H, A, M) \cap GEP \neq \emptyset$. Let f be a contraction of H into itself with a constant $k \in (0,1)$. Let $x_1 \in H$ and

$$\begin{split} u_{n} &= T_{\tau} \left(I - \tau B \right) x_{n}, \\ y_{n} &= J_{M,\lambda} \left(I - \lambda A \right) u_{n}, \forall n \geq 0, \\ x_{n+1} &= \alpha_{n} f \left(x_{n} \right) + \beta_{n} x_{n} + \gamma_{n} SP_{C} \left(\left(1 - t_{n} \right) y_{n} \right), \end{split}$$
(3.11)

for all $n \in N$, the mapping $T_{\tau} : H \to C$ is defined as (2.7) in Lemma 2.3, $\lambda \in (0, 2\alpha]$, $\tau \in (0, 2\delta]$, and $\{t_n\}, \{\alpha_n\}, \{\beta_n\}, \{\beta_n\},$

and $\{\gamma_n\}$ are four sequences in [0,1) satisfy

- (i) $\alpha_n + \beta_n + \gamma_n = 1;$
- (ii) $\lim_{n\to\infty} \alpha_n = 0, \sum_{n=1}^{\infty} \alpha_n = \infty;$
- (iii) $0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1;$
- (iv) $\lim_{n\to\infty} t_n = 0, \sum_{n=1}^{\infty} t_n = \infty$.

Then, $\{x_n\}, \{y_n\}$, and $\{u_n\}$ converge strongly to $q \in \Omega_1$, which is the unique solution of the quadratic minimization problem: $\|q\|^2 = \min_{x \in \Omega_1} \|x\|^2$.

In Theorem 3.1, if $S = S_n, \forall n \ge 1, \beta_n = 0, \forall n \ge 1, f(x_n) = x_n, \forall n \ge 1$, then we have the following corollary.

Corollary 3.3 Let H be a real Hilbert space, let F be a bifunction from $C \times C$ into H satisfying the conditions (A1)-(A4) and let S be a nonexpansive mapping on H. Let $A: H \to H$ be an α - inverse strongly monotone mapping and $B: C \to H$ be a δ - inverse strongly monotone mapping. Let $M: H \to 2^{H}$ be a maximal monotone mapping such that $\Omega_{2} := F(S) \cap VI(H, A, M) \cap GEP \neq \emptyset$. Let $x_{1} \in H$ and

$$\begin{split} \boldsymbol{u}_{n} &= \boldsymbol{T}_{\tau} \left(\boldsymbol{I} - \tau \boldsymbol{B} \right) \boldsymbol{x}_{n}, \\ \boldsymbol{y}_{n} &= \boldsymbol{J}_{\boldsymbol{M}, \lambda} \left(\boldsymbol{I} - \lambda \boldsymbol{A} \right) \boldsymbol{u}_{n}, \forall n \geq 0, \\ \boldsymbol{x}_{n+1} &= \boldsymbol{\alpha}_{n} \boldsymbol{x}_{n} + (1 - \boldsymbol{\alpha}_{n}) \boldsymbol{SP}_{C} \left(\left(1 - \boldsymbol{t}_{n} \right) \boldsymbol{y}_{n} \right), \end{split}$$

for all $n \in N$, the mapping $T_{\tau} : H \to C$ is defined as (2.7) in Lemma 2.3, $\lambda \in (0, 2\alpha]$, $\tau \in (0, 2\delta]$, and $\{\alpha_n\}$ and $\{t_n\}$ are sequences in [0,1) satisfy

(i)
$$\lim_{n\to\infty} \alpha_n = 0, \sum_{n=1}^{\infty} \alpha_n = \infty;$$

(ii) $\lim_{n\to\infty} t_n = 0, \sum_{n=1}^{\infty} t_n = \infty$.

Then, $\{\mathbf{x}_n\}$, $\{\mathbf{y}_n\}$, and $\{\mathbf{u}_n\}$ converge strongly to $\mathbf{q} \in \Omega_2$, which is the unique solution of the quadratic minimization problem: $\|\mathbf{q}\|^2 = \min_{\mathbf{x} \in \Omega_2} \|\mathbf{x}\|^2$.

IV. CONCLUSION

The convergence theorems shown that the iterative sequence converges to the unique solution of the quadratic minimization problem: $\|q\|^2 = \min_{x \in F(S) \cap VI(H,A,M) \cap GEP} \|x\|^2$.

ACKNOWLEDGMENT

The author would like to thank the referee for the comments which improve the manuscript.

REFERENCES

- [1] S. Adly, "Perturbed algorithms and sensitivity analysis for a general class of variational inclusions," *Journal of Mathematical Analysis and Applications*, vol. 201, pp. 609-630, 1996.
- [2] K. Aoyama, Y. Kimura, W. Takahashi, and M. Toyoda, "Approximation of common fixed points of a countable family of nonexpansive mappings in a Banach space," *Nonlinear Analysis: Theory, Methods & Applications*, vol. 67, pp. 2350-2360, 2007.
- [3] E. Blum and W. Oettli, "From optimization and variational inequalities to equilibrium problems," *Mathematics Student-India*, vol. 63, pp. 123-145, 1994.
- [4] F. E. Browder, "Construction of fixed points of nonlinear mappings in Hilbert space," J. Math. Anal. Appl., vol. 20, pp. 197-228, 1967.
- [5] P. L. Combettes and S. A. Hirstoaga, "Equilibrium programming in Hilbert spaces," *Journal of Nonlinear and Convex Analysis*, vol. 6, pp. 117-136, 2005.
- [6] H. liduka and W. Takahashi, "Strong convergence theorems for nonexpansive mappings and inverse-strongly monotone mappings," *Nonlinear Analysis: Theory, Methods & Applications*, vol. 61, pp. 341-350, 2005.
- [7] T. Jf, "Iterative algorithms for finding common solutions to variational inclusion equilibrium and fixed point problems," *Fixed Point Theory and Applications*, vol. 2011, 2010.
- [8] Y. Khongtham and S. Plubtieng, "A general iterative for equilibrium problems of a countable family of Nonexpansive mappings in Hilbert spaces," *Far East Journal of Mathematical Sciences (FJMS)*, vol. 30, pp. 583-604, 2008.
- [9] M. A. Noor and K. I. Noor, "Sensitivity analysis for quasi-variational inclusions," *Journal of Mathematical Analysis and Applications*, vol. 236, pp. 290-299, 1999.
- [10] S. Plubtieng and R. Punpaeng, "A general iterative method for equilibrium problems and fixed point problems in Hilbert spaces,"

Journal of Mathematical Analysis and Applications, vol. 336, pp. 455-469, 2007.

- [11] T. Suzuki, "Strong convergence theorems for infinite families of nonexpansive mappings in general Banach spaces," *Fixed Point Theory and Applications*, vol. 2005, pp. 103-123, 1900.
- [12] H.-K. Xu, "Iterative algorithms for nonlinear operators," *Journal of the London Mathematical Society*, vol. 66, pp. 240-256, 2002.
- [13] L. E. E. Zhang Shi-sheng, H. W. Joseph, and C. K. Chan, "Algorithms of common solutions to quasi variational inclusion and fixed point problems," 应用数学和力学(英文版), vol. 5, p. 003, 2008.
- [14] S.-s. Zhang, H.-w. Lee, and C.-k. Chan, "Quadratic minimization for equilibrium problem variational inclusion and fixed point problem," *Applied Mathematics and Mechanics*, vol. 31, pp. 917-928, 2010.